Mathematics

Number Sense
Solving word problems using bar models
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Independent Task

1.Elllie and Becky baked a cake. Ellie used 67g of flour. Becky used 34g of flour. How much less did

Becky use than Ellie?
2. Anna has £27. Jake has £14. How much more money does Anna have than Jake?

3. Lisa and James are building toy trains. Lisa’s train is 80cm long. James’ train is 33cm shorter.

How long is James’ train?

4. A packet of biscuits costs 45p and a bottle of water costs 39p more. How much does the water

cost?

5. Jay’'s paddling pool has 90 litres of water. Sally’s paddling pool has 78 litres of water. How many

more litres of water iIs in Jay's pool that Sally's?

6. Alice walks 58 metres to her bus stop but she walks 17 fewer metres to school. How far did she

s

walk to school?



